What 1s the Percent? (J)

What percent of the second number is the first number?

444 out of 3700

4232 out of 4600

2691 out of 3900

2480 out of 8000

1045 out of 5500

1400 out of 2500

4512 out of 9400

3854 out of 9400

2924 out of 6800

1162 out of 8300

312 out of 1200

6162 out of 7900

825 out of 3300

4000 out of 5000

648 out of 2400

1566 out of 5800

7425 out of 7500

2204 out of 3800

720 out of 8000

880 out of 5500

960 out of 1500

1620 out of 2000

110 out of 200

6693 out of 6900

5096 out of 9100

1392 out of 5800

1350 out of 5400

2332 out of 4400

5329 out of 7300

7031 out of 7900

3360 out of 9600

6510 out of 9300

5670 out of 7000

6035 out of 7100

112 out of 400

2403 out of 8900

2054 out of 2600

2178 out of 6600

104 out of 800

2046 out of 9300
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What 1s the Percent? (J) Answers

What percent of the second number is the first number?

444 out of 3700
=12%

4232 out of 4600
=92%

2691 out of 3900
=69%

2480 out of 8000
=31%

1045 out of 5500
=19%

1400 out of 2500
=56%

4512 out of 9400
=48%

3854 out of 9400
=41%

2924 out of 6800
=43%

1162 out of 8300
= 14%

312 out of 1200
=26%

6162 out of 7900
=78%

825 out of 3300
=25%

4000 out of 5000
= 80%

648 out of 2400
=27%

1566 out of 5800
=27%

7425 out of 7500
=99%

2204 out of 3800
= 58%

720 out of 8000
=9%

880 out of 5500
=16%

960 out of 1500
= 64%

1620 out of 2000
=81%

110 out of 200
=55%

6693 out of 6900
=97%

5096 out of 9100
=56%

1392 out of 5800
=24%

1350 out of 5400
=25%

2332 out of 4400
=53%

5329 out of 7300
=73%

7031 out of 7900
=89%

3360 out of 9600
=35%

6510 out of 9300
=70%

5670 out of 7000
=81%

6035 out of 7100
=85%

112 out of 400
=28%

2403 out of 8900
=27%

2054 out of 2600
=79%

2178 out of 6600
=33%

104 out of 800
=13%

2046 out of 9300
=22%
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